F47E (20245FE) £EJIOCC A=T AL EYIHYTEZKiKEGR KRS KB a1—-TL—&EERER]

GNo A-61 A54P AZE /T iR B [2025/3/29])
CAP Team iP | 2P | 3P | 4P | PSO| i 21 FEEEBRKAKKE
W FEKEKIST 1 2 2 1 4 10 EH1 =iE K
B | E—FRAZIVITEIH 1 2 1 1 7 g2 TH BHE
fR/a—k RETL— =X /Incomplete 7 L —
~ i} & F t = 6 7 Ul PIPY|TR[E|[P|
+ K b5'g > N N m ? ’_\ / ??. El | =)/ |= EZ/In{c;n:iete
No. |Fskmssv f;’ ’7{ ”IL' w Z 5 ;E?% ; R ,; %’ :E E Kl:jﬁé—fsx
1 b Fol |k - i)l K | 81 M:Ath DI R
T
12t 8 0 0 0 |ofo]o
2|BH LK /1 1/1 | /3 /2 | 272 | 2 4 3 |o|lofz2]|pP
3|ME EA /1 1/2 /1 0 1 2 |of1]o
4|fNE FEE /1 1/1 /1 1 0 1 [2]2]2(k
5|FE F& 0 0 0 |ofo]o
6|mm 75— /1 0 0 2 |ofofo
7= R /1 1/1 1 3 o [1|2]o]|PP
8|TH #% 0 0 0 |ofo]o
o|fEHE B o o o0 [ofo]oO
10|&# RE /1 0 0 0o |of1]o0
11483 B o o 0 |0]0]0O
12|18 E§ 0 0 0 |ofo]o
13|88 K& 0 0 0 |ofo]o
14| Tk %t 0 0 0 |ofo]o
15[/ME —7¢ 0 0 0 |ofo]o
F—LEt o/4 | 1/1 [ 1/1 | 172 | 1/6 0/4 | 2/2 | 4 8 8 |3|6]4
SREEt=] 6 a—rEE = 20
GK EE s AT JOvoB [ RRV1—MEIEE%
GK1|:EHh & 13 6 5 45.5%
GK13|EAR Xi&E 0 0 0
Br/a—hk WETL— =X /Incomplete 7L —
~ i< e F + 3 6 7 U I P|PY[THR|ZE[P |
A X byg 2 b N m 9 A /l7alol ||/ |%|] IR/Ihcomplete
No. |e—snrerms| b 1 %] o > . E >l vy E i3 P;/\"xs}
T 7 [ 3 ) FIRARMN|OE Bk K¥—7 =X
1 v F &b - ) 7 | 8l M:AtL DI R
.
1| KL e 0 1 o [ofo]o]P
2|/ N EATE 0 0 1 [o]1]1
3IEH MTE 1/1 /2 /1 2 0 0o [of1]o0]|PPK
4l ik 1/1 1 0 1 [o]1]0]|PK
51 #%| 1/1 | 1/1 /2 | 1/1 ] 1/2 2 3 1 [1]0]0[K
= :ES 0 2 2 |of1]o
7|0 #iE 0 0 0 |ofo]o
g{lum =& /1 1 0 0 |ofo]o]P
9|RRE #HFE 0 0 0 |ofo]o
10|58 F /I 0 0 0 |ofo]oO
118K =H 0 0 0 |ofo]o
12|i%:8 BX 0 0 0 |ofo]oO
13 0 0 0 |ofo]o
14 0 0 0 |ofo]oO
15 0 0 0 |ofo]o
F—LEt| 1/1 | 3/3 o/3 | o/2 1/1 ] 1/3 6 6 5 [1]4]1
B/RAH=] 6 a—rERH= 13
GK HME 21— E£2H JOvoR [ BRS1—FHEIEE%
GK1|XW fE5& 20 6 6 50.0%
GK13 0 0 0




